module Up_Counter_Even (CLK, RESET, C2, C1, CO);

~dinput CLK, RESET;
output €2, C1, €0;

assign nC@ = ~(O;

assign nC1 = ~(C1;

assign nC2 = ~C2;

-fsign De = i

assign D1 =

-







U (nC2 & nC1 & nCO) | (C2 & nC1 & nCo)
| (nC2 & €1 & nCO) | (C2 & nC1 & nCO)




(nC2 & nce) | (C2 & C1 & C0);

1 &
1 & CO) | (C2 & nC1 & nCo);
&
&

C
(nC2 & C
(nC2 & C
(nC2 & C

nce) | (C2 & nC1 & C0);

1
1 & nCO) | (C2 & nC1 & nCo);
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How many pin assignments are needed In order to test this circult on the FPGA?
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The following structural Verilog module is for a
outputs of the counter are C2 (most significant), C1,
significant).

The module contains three gates: Two inverters and 2-ir
The module definitions of the gates are given as cc .

oy P@W@R‘MNU

The module also contains three D-type flip-flops Th
| :-'m:dﬂnﬁlsglwnuocommhtm_

~ module counter3_vl (Reset,Clk,C2,C1,C0);

-
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module counter3_vl (Reset,Clk,C2,(1,C0); =
input Reset,Clk;
- output C2,C1,C8; \
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The circuit below contains a 3-bit register with four operational modes:
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The following waveform is generated by functional simulation for the above circuit. Notice the
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in Unsigned Decimal format.

« "P"is a 3-bit input that consists of P2 (most significant), P1, and PO (least significant)
displayed in Unsigned Decimal format.

» Q2 (most significant), Q), and QO (least significant) outputs are grouped together in a
signal called 'Q” and displayed in Unsigned Decimal format.
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The following waveform is generated by functional simulation for the above cird_"iMe left 0:13:50 |
following:

« "M is a 2-bit input that consists of M1 (most significant) and MO (least significant) displayed
in Unsigned Decimal format.

« *P"Is a 3-bit input that consists of P2 (most significant), P, and PO (least significant)
displayed in Unsigned Decimal format.

« Q2 (most significant), Q, and QO (least significant) outputs are grouped together in a
signal called Q" and displayed in Unsigned Decimal format.
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Accordingly answer the following quesﬁ%nl:

What should X2, X1, and X0 in the circuit be connected to?

SR

O X2=Ql X1=Q0,x0=Q2
X2=Q1 X1=Q0,X0=0
L X2=Q2,X1=QlX0=Q0
O X2=0,X1=Q2X0=Ql
O X2=Q0,X1=Q2 X0 =Ql
O X2=P2X1=P), X0 =P0
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